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Q part Annotation 

(a) The candidate has fully explained the impact on brand loyalty / profit. 

(b) 

The candidate has explained a valid example of innovation (Sky Couches) for the 
chosen business, although the explanation of why this is an example of product 

innovation is weak. The candidate has fully explained how the innovation will make the 
firm (Air New Zealand) more competitive by differentiating itself from the market 

(competitors), hence expanding its customer base. 

(c) 

The positive and negative effects are both fully explained. The strategy (Quality 

Assurance) will increase staff motivation as a result of job enrichment / more 
responsibility (explained). These employees will work harder, increasing overall 

production (fully explained). 

The negative effects are fully explained in a similar manner. The production cost may 

increase due to higher training costs from teaching workers how to inspect for quality 

(explained). This leads to slower production, because employees are out of their jobs to 
attend training sessions (fully explained). 

This answer reaches Excellence, because the conclusion provides the long-term cost 
benefit analysis of the selected strategy. 

(d) 
The positive and negative effects are both fully explained. This answer does not reach 
Excellence, because the conclusion repeats the same arguments – it is a summary 
rather than a justified conclusion. 
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